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100,000% 5JH = 3& Xt

18,000 » 10&HX}t = 123
50,000 * 4M

e 450,000 * 43|

33 = 3,00004 = 155
500,000

220 = 10,0000

1,720 = 4,0000H

7,645
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1,500

2,160
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200,000 * 22% » 12E8

200,000 = 22% * 2&

20,000 » 22H * 23| ~ 123

50,000 = 112& = 13

77,760
77,760
72,160
52,800

8,800

10,560
5,600

5,600

1,200

AN2,550

350,000 = 27K

1,200

700

A2,550
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SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O=EEMI S 500,000 * 1CH 500
EAt2e] 106,213 104,742 1,471
FUEOJAIE 29g 106,213 104,742 1,471
201 ZEH2IH] 81,213 81,742 A529
01 Atf2teld 12,240 11,840 400
Oget=EH| 12,240
—&A &I HEAAZ 100,000 * 28] 200
—&EA &Y HIIBAE 560,000 560
—HASIA HEE Hh 250,000 * 23l 500
—HA HED| REEE 2
1,000,000 = 24! 2,000
—HAES 740,000 740
—SZ0l3td 50,000 » 4% 200
— 2SS B & 2HUES
500,000 * 670 & 3,000
~ RIS MSRAT (ZH0IB A ) 2
36,000 * 20002 = 23] 1,440
—NAESE Ot 50 = 10,0000H 500
—SEA AR3 250,000 * 83l 2,000
—HTHE EOH 100,000 * 24 200
—NHESES 3,000 * 2004 600
—&EA EZS 300,000 300
02 23244l 68,973 69,902 A929
o=zR2 2 WA 19,370
—MEHZBE HIIR=s 50,000 = 123 600
—dHSE =ER= 30,000 = 12& 360
—ANESEY MRS 80,000 » 123 960
—ANESHEY =523 90,000 = 12& 1,080
—NSIA & HAl 2,420
- HESHM(AESE) 180,000 = 2CH 360
- NSIHM(AESHE) 20,000 = 1CH 20
- S REM(H AT 30,000 * 1CH 30
- AN (LAESE) 60,000 * 2CH 120
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M3 FOITA IS
2l FHAr2e| (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
- AHHAZ (2SS E) 30,000 = 1CH 30
EHAAMZ(HARL) 60,000 * 1CH 60
- BEZ(AESE) 400,000 » 2CH 800
PEI(2EIE) 500,000 * 1CH 500
-BES(HAX 500,000 * 1CH 500
—XSX HIIBA =2 50,000 = 4CH 200
—dAN HIIR= 1,000,000 * 12& 12,000
—&AI Mot=E 23 100,000 * 12& 1,200
—&AI BEHE 2E3 175,000 * 23] 350
— X SZNd 2E32

50,000 = 2CH = 23] 200
Od =zl 14,000
— A oY 10,000,000 10,000
—2Z 0l o4 3,000,000 3,000
—HESHEE 1,000,000 1,000
OA&E&HlIs XYl 11,444

—EA WLl Y 0012 RXRE
100,000 * 12CH 1,200
—HMZ2 AM&EsIel 187,000 * 12& 2,244
=0l =2l 25,000 * 4CH 100
—HERX 5,500
- A 4,000,000 4,000
- OISt 500,000 500
HF0 Y A0 1,000,000 1,000
—2H0|3tE A RS> 200,000 * 12= 2,400
OXtE & B 22,559
—AHSE 4,500,000 * 2CH 9,000
—Agst=E 5,253,000 = 1CH 5,253
—&AX 8,306,000 = 1CH 8,306
Otz 1,600

— 20|10l S A SHEA AX(MENSR)
1,600,000 1,600

401 A&HIZ204YI 25,000 23,000 2,000




fA HEH
MM FOIRX DBt St
el A2 2 (&2
i} _ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] At oH Om,;w Hl =2
01 Al&H] 25,000 23,000 2,000
O A SEI2I Z=F A 2| ZAH100m)
20,000,000 20,000
ORIRAFALAl B2 5,000,000 5,000
ARSR SR 328,350 308,350 20,000
FOEH A 328,350 308,350 20,000
ATFDMBEHOIALSY 186,350 166,350 20,000
101 QI AH 16,350 16,350 0
10 JIZH2Z2USES 16,350 16,350 0
Otz 2te| ol el 35,310 * 43 » 30 4,238
ORNBAHEZ ZADIIRIIAIY o8
35,310 = 10 » 30 10,593
Ogs8z =S 14,831,000 * 10.24% 1,519
401 AlSHIL20HY] 120,000 100,000 20,000
01 Al&H] 120,000 100,000 20,000
OAFZMESHOIAIA (HEH) 120,000,000 120,000
402 QIZHXH=0|™ 50,000 50,000 0
01 DIZtXEEX 50,000 50,000 0
OARDMHSHOIAIY (HEHDH) 50,000,000 50,000
C2FH| 22,000 49,000 A 27,000
401 Al&HILLCHYI 22,000 49,000 A27,000
01 Al&H] 20,000 47,000 27,000
OFmE72| OIS0 OtAZ2AMN 2T 2 A1
500m") 20,000,000 20,000
03 Al&=0H| 2,000 2,000 0
OXHLAISL 2 (REH) 2,000,000 2,000
A5HA 22 60,000 80,000 20,000
401 Al&HIL=20HY] 60,000 80,000 20,000
01 Al&H] 60,000 80,000 A20,000
Oat3l22] OtHEI= H=H X2 AH133m)
20,000,000 20,000
Odt&E 12l 252& HA=H X2 AH130M)
20,000,000 20,000
OFE52| JIEAHL AsEXSAH(130m)
20,000,000 20,000
F0ZE 0|2 AL 22 20,000 13,000 7,000
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401 AIEHIZ=0Y] 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OXF &gl S3otd ZHISA 20,000,000 20,000
St+=Z2FH| 40,000 0 40,000
401 AIEHIZ =20 40,000 0 40,000
01 Al&HI 40,000 0 40,000
O&#eel =43 AHL=20m) 20,000,000 20,000
OAH L == HEISAH(OrA e~ E
HALRA) 180m 20,000,000 20,000
HY2IHH(FEH) 95,260 99,970 A4,710
lA2HEH(HEH) 12,880 12,280 600
eIz =2E] 12,880 12,280 600
203 gE=&d| 11,680 11,080 600
01 JIZ2EHRFaH 6,600 6,000 600
OJN22EPRF=AHI(HEYH)
6,600,000 » 1 6,600
02 HEINFRF=EH 880 880 0
OFEIIA AL ETH| (BB
40,000 * 229 880
04 EA2ELIFEH 4,200 4,200 0
SENECTEES FIEET5
350,000 = 12 4,200
204 XA 1,200 1,200 0
03 SR =4l 1,200 1,200 0
ONSELIRA(EEH)
100,000 = 1& « 123 1,200
Jl=ZH(#38d) 82,380 87,690 A5,310
Jl=&Hl 82,380 87,690 A5,310
201 LEHREH| 56,460 56,010 450
01 At22ted 56,460 56,010 450
Ogt=ZH| 21,710
—SAMEXN 7Y 18,000 » 154X}t » 123 3,240
—ANRES 7Y 100,000 * 20H 2,000
—S2EYHEFE 350,000 * 43 1,400
—=SAI| #=2l 200,000 = 3CH = 32 1,800
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_ - P e
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
—=ADI, TRIH EH 2288
175,000 * 23CH * 22l 8,050
—gXA FRRY L AE 125,000 * 43l 500
-0 2 RS MAH
50,000 = 10& * 23 1,000
-4 -2 &5 20,000 = 3CH * 128 720
—JIEt=EH] 3,000,000 3,000
Oo2d+< 29,250
— =& 50,000 » 365< 18,250
— LA 50,000 = 1102 = 204 11,000
O= &l 5,500,000 5,500
202 Oddl 25,920 31,680 A5,760
01 =LHAHI 25,920 31,680 A5,760
OJl=geR &0l
20,000 = 20 * 6 122 * 90/100 25,920




